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QUESTION 1

What are two barriers of adoption in an organization? (Choose two.)
A. new product sales motion

B. lack of knowledge on solution

C. organizational announcements

D. implementation issues

E. hiring practices

Correct Answer: BD

QUESTION 2

Which of these is included in a success plan?
A. confidential customer information

B. customer business outcomes

C. customer HR processes

D. services cost

Correct Answer: B

QUESTION 3

Which scenario represents a use case expand opportunity?

A. usage KPlIs are on target entering the fourth quarter

B. supplementary training sessions are organized on existing features

C. solution management team adds headcount

D. endpoint security solution extended to cover data center servers in addition to laptops

Correct Answer: D

QUESTION 4

The Customer Success Manager notices that their customer has delayed going into production. Which action does the
Customer Success Manager consider?
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A. Suggest that the customer replace their existing staff

B. Provide the customer with a chargeable deployment service
C. Re-enforce the time to value of the solution

D. Give the customer a discount on a future purchase

Correct Answer: C

QUESTION 5
What are two drivers for Customer Success? (Chooser two)
A. The customer trusts that Cisco support will solve any issues.

B. The customer receives training for new products and services.

C. The customer recognizes the value of initial use case implementations.

D. The customer gives feedback about the purchased product.
E. The mature and fully deployed solution is running in production.

Correct Answer: BC
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